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General Instructions :

Read the following instructions very carefully and follow them :

(i)
(i1)
(iit)
(iv)

(v)

(vi)

(vii)

(viii)

(ix)

each.

This question paper contains 30 questions. All questions are compulsory.
Question paper is divided into five sections — Sections A, B, C, D and E.

Section A — questions number 1 to 12 are Multiple Choice type questions. Each
question carries 1 mark.

Section B — questions number 13 to 18 are Short Answer type
questions. Each question carries 2 marks. Write answer to each question in
50 to 60 words.

Section C - questions number 19 to 23 are Long Answer type-I
questions. Each question carries 4 marks. Write answer to each question in
100 to 120 words.

Section D - questions number 24 to 26 are Passage, Cartoon and Map-based
questions. Answer each question accordingly.

Section E — questions number 27 to 30 are Long Answer type-II questions.
Each question carries 6 marks. Write answer to each question in 170 to 180
words.

There is no overall choice in the question paper. However, an internal choice
has been provided in few questions. Only one of the choices in such questions
has to be attempted.

In addition to this, note that a separate question has been provided for Visually
Impaired candidates in lieu of questions having visual inputs, map etc. Such
questions are to be attempted by Visually Impaired candidates only.

SECTION A
Questions number 1 to 12 are Multiple Choice type questions, carrying 1 mark
12x1=12
The ‘SAARC’ is a major initiative by South Asian

States to evolve mutual cooperation.
(A)  Political

(B) Military

(C) International

(D) Regional

13-59/3/1 3 P.T.O.



2. YA % frg &3 1 ‘9rd 984 gl 1 8 ?

(A) IT-YF & (B) gferur-ufgaw &=
(C) SR-ulzem &= (D) TfEoT-vd &
8. 1975 H SHAl o ‘HEG A I "qcd R fepar o ?
(A)  STTS{EE T
(B) TH.. HileA
(C) =T® AJHGR

(D) STIYUSPIRT AT

4. 1974 Y fo57 T TSI & DA 7 TGd] W HIAEATI o RIS eI foham o1 2
(A) IR I AR fogr
(B) TrEY™ 3R fogR
(C) ToER 3R TR
(D) fogr 3R 7ex wem

5. Trafafad gesti ot SreshaER safe i
()  Tova s & T
(i)  foIvd SR G 6t T

(i) EIH TY T I TATIHT

(iv) STaUgia A1fuees Soft To=Ht ht Tm9T
T&l fashed giHT
A) (@), (i), (v), (i1)
(B) G, (1), (id), (iv)
(C) G, (1), (), (v)
(D) Gib), (), (Gv), (1)
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2. Which region of India is referred to as the ‘Seven Sisters’ ?
(A)  North-East region (B)  South-West region
(C) North-West region (D)  South-East region

3. Who led the ‘Peoples’ March’ to the Parliament in 1975 ?
(A) Jagjivan Ram
(B) S.K Patil
(C)  Charu Majumdar

(D) Jayaprakash Narayan

4. Students of which two states started an agitation against the rising food

prices in 1974 ?

(A)  Uttar Pradesh and Bihar
(B) Rajasthan and Bihar

(C) Bihar and Gujarat

(D) Bihar and Madhya Pradesh

5. Arrange the following events in chronological order :
(1) Establishment of the World Bank
(11) Establishment of the WTO
(iii)  Establishment of the UNO
(iv)  Establishment of the IAEA
Choose the correct option :
A) (@), @id), (iv), (ii)
(B) (i), (), (iii), (iv)
(C)  (id), (i), (@), Gv)
(D) (Gid), (), (Gv), (i)

13-59/3/1 5 P.T.O.



Yo7 G 6 @ 070, &1 HeA 15T T § — [97H T H e (A) 79 g H
BRI (R) GRT 3713 631 o1 8 | 37 F9H] &1 &7 & 95T 3R 19 150 70 faseqr
(A), (B), (C) 31T (D) ¥ & 3 & &7 & & lashey gy /

6.  3WHYT(A): TS H &1 hl Heg ¥ TR W YU FIH0 ST W@ 3R 91 o
AThdd o Toredr =l Ufdafed st feam |

HRU(R): TS A 2001 H Teh Al AlhA-THH HTGITH oh HRUT Teh AT
SAIhATTeh AT i HIT I THR L o= |

ﬁW‘?:

(A)  IYHIH (A) 3 SR (R) a1 &l & 3T HRT (R), AR (A) I
e AT Hidl B |

(B)  31fieheM (A) 3R FRU (R) QH T&l 8§, Td HRU (R), AR (A) Hi
TE AT 7T Ll 3 |

(C) AT (A) &l 8, g SR (R) T4 7 |

(D) AR (A) T4 &, Tg SR (R) T 7 |

7. Trafafea & & SR-91 AEeE ITWR-qd o AN gHT 39T & STThIeTsti i
I<h i o T 7gT femam mmam o 2
(A) TEl AT o Raer 3T
(B) 3t Wl & fau sTeie
(C) YA o TSI 1 T6 9 o foTT smare
(D) AT & e 3mereH

8. I Iw g I 9wl e il

Gl gl
I Rt 0w
2. foomw afde &= (i) o
3. TYRh USg Gal YR h1 TATE HeE ¢ Gii) 2R
4, e=flT TTe (v) =M
gt fashew T -
(A 1-Gid), 2-(v), 3-(1), 4-(ii) (B)  1(iii), 2-(i), 3-(ii), 4-(iv)
(©)  1-Gi), 2-(1), 3-(iv), 4-(iii) (D) 1-(iv), 2-(ii), 3-Gii), 4-()
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For Question number 6, two statements are given — one labelled as Assertion (A)
and the other labelled as Reason (R). Read these statements carefully and choose the

correct option as the answer from the options (A), (B), (C) and (D) given below.

6. Assertion (A) :

The king, with the help of the army, retained full control

over the government and restricted the expansion of

democracy in Nepal.

Reason (R): The king accepted the demand for a new democratic
constitution in 2001, in the wake of a strong
pro-democracy movement.

Options :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the

correct explanation of the Assertion (A).
(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.

(D)  Assertion (A) is false, but Reason (R) is true.

7. Which one of the following movements was not started by the people of

North-East to express their regional aspirations ?

(A) Movement against outsiders

(B) Movement for greater autonomy

(C) Movement to form a union of North-East States

(D) Movement for secession

8. Match List I correctly with List II :

4.

List

European Currency

Special Economic Zone

@)
(ii)

A permanent member country of UN Security (ii1)

Council
A Regional Organisation

Choose the correct option :

(A)
(C)

13-59/3/1

1-(iii), 2-(iv), 3-(1), 4-(ii) (B)
1-(ii), 2-(1), 3-(iv), 4-(ii1) (D)

(iv)

List II

France
ASEAN

Euro

China

1-(iii), 2-(1), 3-(ii), 4-13v)
1-(iv), 2-(ii), 3-(iii), 4-(1)
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9. WA % YUH HM YA H, HIH-HT TSI g wdleh qH1 shl €I Sfiad H g

TYE g AT ?

(A) G gt

(B) HHEIME Ul ATh g
(C) WRAH™ SEd

(D) T@ad w4l

o7 G&I1 10 % 1079, G %97 15T 7T & — [5974 U F BT (A) TI R FHl
HRU (R) ZRT 37fd 37 797 8 | 37 H971 &1 17 & 9le0 3K =9 3T 78 fabeqr
(A), (B), (C) 3% (D) ¥ @ 3T & &Y § @&l fd&cq gy |

10. 37¥HY7 (A): WRA H YUYW A FAE hl & IR TR HAT 991 AR 37d H
3T 1951 ¥ BE 1952 Tk IHTE STRINIA fohT T |

FRU(R): 39 I8 dh o §9d @ o & e aifven % wder #
AT AT T81 81 Hehd & |

ey -

(A)  3AMH (A) 3T SR (R) gHT T & 3 HROT (R), AR (A) HI
g ST T 3 |

(B) Yo (A) 3R RN (R) HT T&l &, Tg RN (R), AMTHH (A) H
el AT TFT 1 8 |

(C) AR (A) &l 7, Tg SR (R) T4 2 |
(D) 3T (A) T 8, T SR (R) Hal & |
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9. Which political party was at the second place in winning the Lok Sabha

seats in the first general elections of India ?
(A)  Socialist Party

(B) The Communist Party of India

(C) Bharatiya Jana Sangh

(D) Swatantra Party

For Question number 10, two statements are given — one labelled as Assertion (A)
and the other labelled as Reason (R). Read these statements carefully and choose the
correct option as the answer from the options (A), (B), (C) and (D) given below.

10. Assertion (A) : The first general elections in India had to be postponed
twice and were finally held from October 1951 to
February 1952.

Reason (R): It was no longer possible to argue that democratic
elections could not be held in conditions of poverty or lack

of education.
Options :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the

correct explanation of the Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not

the correct explanation of the Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.

(D)  Assertion (A) is false, but Reason (R) is true.
13-59/3/1 9 P.T.O.
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12.

13.

14.

15.

16.

17.

18.

et § ST "o o 9R § Fefafied 8 9 -1 % 7ed § 2
(A)  sficeRt ® Uit gt < 9a § off |

(B) dfheti o fadi <hl 3ued i T8 |

(C) Toree =t |k <o 1 wHeT UTH o |

(D) #ficieRt 1 ST e | fagel 3R afe e o |

Tk Y 1 o ffafiaa o @ forg sevg & forg 6 i€ of 2

(A) TeH I % Sffe SATIR I serat ¢ & fore |

(B) IqUTH ey i Ushd T TSH ¢ H I 9@ o foIT |
(C)  Ig % T9F HEHAT YGH H o AT |

(D) 8 TedYAT o W0 § TeE 29 hl gl v o T |

Qg @
AATGY o Gl hi fohdl q faiwarsti i ISR i |

AT o fopgl @ 329l 1 Seoi@ hifvie |

ad 3R 9 & 97 fohgl & qavel o1 favawor hifse, e SR 1962 §
=1 guy g o |

“fifa T w1 e form a9 H R form HEAm & T W TRt TR 2

TIAAAT HAGIA o GRF Teh oI e % &9 H hUY Ul sl Fehid
Wy Hifvu |

TS TTAehTe SN e o i g guTe ferfla |
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11.

12.

13.

14.

15.

16.

17.

18.

13-59/3/1 11 P.T.O.

Which one of the following statements about the ethnic conflict in

Sri Lanka is false ?

(A)  Politics in Sri Lanka favoured the Sinhalese.
(B)  Interests of Tamils were neglected.

(C) LTTE was supported by the SAARC countries.

(D) The Sri Lanka ethnic problem involved the Sinhalese and the
Tamils.

UN was established with the objective to :
(A)  boost trade among the member states.

(B) prevent international conflict and facilitate cooperation among
member states.

(C)  provide help at the time of war.

(D)  help the member states in formation of military alliances.

SECTION B
Highlight any two features of the Constitution of Bangladesh.
State any two objectives of ASEAN.

Analyse any two differences between India and China which led to a
military conflict in 1962.

In which year was ‘NITI Aayog’ constituted and which organisation did it

replace ?

Explain the nature of the Congress party as an ideological coalition

during the freedom movement.

State any two effects of imposing national emergency.



19.

20.

21.

22.

23.

24.

wQ|us 1

“orffr STTeRTEITd AT ITehT THRISH WA AlehdiEeh TSI skl Teh 311 377
7 1” forgl St SuIeh It @ e i gfE il |

oficTeht H TN ToY < STaNg 3T gig o foT ITRerRt fohgl g1 hrehl &1
Ui IR |

AYATRIUT ok kTS I TSIt YU fifiauy |

(%) UNd H Teudd TR fhe YhR dlhdd & foTQ agH wifad g5 8 ?
TE I |
HAYAT
(@) 2014 % JAEI H AT ohrg B Ueh (LK TR o 981 § F41 ot ? fohgdl a1
HIOT I T HIT |

() “ana 3 fafim smurl W @Y UY & gwied w1 gue fm @ 1”7 wem
=1 gfg HifT |

T
(@) “gg® UY U GIR A 1 31 GLea qNTg 1 TS BT 7 |7 e i

TETd 38Usy |

Qs ¥

frafafaa saa #i eamYEs 9feu 3R A= for 0 g1 6 S AT . 4x1=4

1980 % & H Gfeid SMqdl s TSHifdeh TSl 1 ol 357 g3 | 1978 H

“WE%  (BAMCEF) 1 T84 g37 | 48 Hed WhM HHGMNA H1 g
YR ¢8 (A a1 o1 | 30 TS 4 Fgo A IEEd S, AT
ST, 3 fUSst O 3R AeqETh! hi TsHIfdeh T sl Seiesd dlher]
1 | 3H 1 Fadi o efad-wivg g w=y wEmfa 8, S99 o9 < a5
H SgoH | el (SHAT) 1 35T A |
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19.

20.

21.

22.

23.

24.

SECTION C

“Regional aspirations and their accommodation are an integral part of
Indian democratic politics.” Support the statement with any two suitable

arguments. 4

Describe any two factors responsible for the economic growth in Sri

Lanka despite the internal conflicts. 4
Write any two political consequences of globalisation. 4

(a) How did the coalition governments prove to be a boon for
democracy in India ? Explain. 4

OR

(b) In the 2014 elections, why were people in favour of a stable
government at the Centre ? Explain any two reasons. 4

(a)  “India has supported the restructuring of the United Nations on

several grounds.” Support the statement. 4
OR
(b)  “Reforming the United Nations means restructuring of the
Security Council.” Justify the statement. 4
SECTION D

Read the following passage carefully and answer the questions that
follow : 4x1=4

The 1980s also saw the rise of political organisations of the Dalits. In
1978 the ‘BAMCEF’ was formed. This organisation was not an ordinary
trade union of government employees. It took a strong position in favour
of political power to the ‘bahujan’ — the SC, ST, OBC and minorities. It
was out of this that the subsequent Dalit Shoshit Samaj Sangharsh
Samiti and later the Bahujan Samaj Party (BSP) emerged.

13-59/3/1 13 P.T.O.



(1)

(ii)

(iii)

(iv)

13-59/3/1

I 1 & O I AT
(A)  FgH IR FeTEETH THEH HHAN 99

(B) ¥gSH 3R Fcqaedsh U™ HHAN HEAH

(C) TUBSI 3R Feuaeds T HHAN 9

(D) TUDSI 3R AeTaEH TG FHAN TEIH

g HATS TET W1 e TohH I H g3 o7 ?
(A) 1981

(B) 1984

(C) 1989

(D) 1991

FEI HATS UTET 1 HEATIH AdT i AT ?
(A) IR, ISR

(B)  HHETed!

(C) HereH g

(D) A

g HHS 1 (SHaT) 4 fohe TsF 0 319 ugell @enr Tfed hi off 2

(A) IS
(B)  gfamm
(C) IHIW
(D)  TREAH

14



(1)

(ii)

(iii)

(iv)

13-59/3/1

Choose the correct full form of BAMCEF :

(A)
(B)
(C)

(D)

Bahujan and Minority Communities Employees Federation
Bahujan and Minority Communities Employees Foundation
Backward and Minority Communities Employees Federation

Backward and Minority Communities Employees Foundation

In which year was the Bahujan Samaj Party formed ?

(A)
(B)
(C)
(D)

1981
1984
1989
1991

Who was the founder leader of Bahujan Samaj Party ?

(A)
(B)
(C)
(D)

B.R. Ambedkar
Mayawati
Mulayam Singh
Kanshi Ram

In which State did the Bahujan Samaj Party (BSP) form its first

government ?

(A)
(B)
(©)
(D)

Punjab
Haryana
Uttar Pradesh
Rajasthan
15 P.T.O.



25. WRA % U T TSI W@I-AHRE (56 17 |) § o) T4 61 @), @), ©
e O & g siferd form o 3 | AR € 8 SR W SMER W 3T TS I
UEIH HINU R AT IT-gfeaert | g W@t AW, YA I TS B
HH-GEAT qAT gHred § fear wn gefya 1R, = & 8 arfeer & &9 H
ferfia -

TN bl TS AR
<l HY-G&IT

e o fen
T HE1Yd 318

Sy <l AH

(1)

(ii)

(iii)

(iv)

(1)

(ii)

(iii)

(iv)

13-59/3/1

I8 TSI &1 hiU™ IIEl 1 1967 o IATEl H SgHd FN4 Ta1 gl ol |

4x1=4

I8 USH S8l HIUH I 4 1967 % Il H FgHA G T8l TR o,

W T TAl o FHIT § FERR &1 &1 off |

HHTSIATE! ST TH ATE ledT 8 qeiyd T |

o ¥ g T e R @ gefE T

16
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WA T {@I-qrfers (Tifaes)
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25. In the given political outline map of India (on page 19), four States
have been marked as @, @), © and ©. Identify these States on the
basis of the information given below and write their correct names in
your answer-book along with the respective serial number of the

information used and the concerned alphabets given in the map as per

the following format : 4x1=4
Serial number of Concerned
. . . . Name of the
the information alphabet given in
State
used the map

(1)

(ii)

(iii)

(iv)

) The State where the Congress party did not secure majority in
1967 elections.

(ii)) The State where Congress party did not secure majority in
1967 elections but formed the government with the support of

other parties.

(i1i) The State related to Samajwadi leader, Ram Manohar Lohia.

(iv)  The State related to the former President of India, V.V. Giri.

13-59/3/1 18



For question no. 25

Outline Map of India (Political)

13-59/3/1
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g : HECIREGa 97 #ac R el & 77 307 &1 25 & & W/
g 4x1=4

(25.1) W SEIGL AT A iA-A1 g T/ fezm o 2
(25.2) WA TSHIfA & fhT 23 ol Tt h gl 1T & 2
(25.3) 1969 % TFUld TG | 3f~qu Tieht 4 fohe IoHigar =1 aHeH fopam o 2
(25.4) ‘TR T, T U9 JAA & FEEI{-4d TSI HH-AT § ?
26. dfdq I SR ¥ gefg A= feu mu o = tewma ifsre g Fefafea g
% I GRT 1+1+2=4

T
()  wf o e fohg s1q 1 Sl off ?
(i)  Sfoi 1 Gar T 3 Sun o o= o g3 ot 2
(it) Wi T SR % e  foheal Q1 TRUMHT 1 ITFR HIT |
e : FEITGT 397 Facl GIRATIAT Themaal & 70 397 G&47 26 & €17 W & -

4x1=4
(26.1) fgdi foa gg form Iy &I gamm o1 ?
(26.2) ®fci <l SR forg oy TS T8 off 2
(26.3) Hiforard | w1 forerest fore o gatm o 2
(26.4) 1985 T Hifowd &9 hl HEYHEC Ul I T &1 dTel =l 1 =AM
fetfem |

13-59/3/1 20




Note :

26.

Note :

The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 25 : 4x1=4

(25.1) Which popular slogan was given by Lal Bahadur Shastri ?

(25.2) Which decade of Indian politics has been referred to as the
‘dangerous decade’ ?

(25.3) Which candidate was supported by Indira Gandhi for the post of
President in 1969 ?

(25.4) Which State is related to the phrase ‘Aya Ram, Gaya Ram’ ?

Study the picture given below related to the Berlin Wall and answer the
questions that follow : 1+1+2=4

T

i) What did the Berlin Wall symbolise ?
(ii)  Between which two countries was the Berlin Wall built ?
(iii) Highlight any two outcomes of breaking of the Berlin Wall.

The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 26. 4x1=4

(26.1) In which year did the Second World War end ?

(26.2) In which year was the Berlin Wall built ?

(26.3) In which year did the Soviet Union disintegrate ?

(26.4) Name the leader who became the General Secretary of the
Communist Party of the Soviet Union in 1985.

13-59/3/1 21 P.T.O.



217.

28.

29.

30.

(@)

13-59/3/1

Qs g

“greit AAfera sTa-stam merfEl” & faga 3 frg yoer Sad meng”
HR ‘et Marg o = q=fere % HEl T AR Hl gL FA H HgEdl
& 2 2 TE HTY |

HAYAT

TATERUT <l T TG TV o oI WRA TWHR gy & Fohu T fohedi o
SHRIHA 6l =T T |

T fava g = uvanq ufsmn ofi erhieh o =9 Tads <9l & |EA 3T
foredl <ff gean gAfaat <t samen fifvw |

AT

TR e WHITG o fohedl i =eehl it amen S |

HIg qH Teh qoht WA g TS T8 Tefuerar shi fife’ =1 =meferd
3ET |

AT

“raaa Wra i fagwr Hifd 7 ek wfaqul fava & 99+ H1 FERR HE H
o foRam & |7 o9 SUYRR Rl o 1T e hi Y i |

1947 ¥ TEAAAT % GHT WG % GHY IS fhedl diF WA IRl 6
U HITT |

AT

1947 ® Tofewr sfeam o fowsE 1 ufskan ® o1 Tohgl dH W@
HiSATEAT 1 qUH HIT |

22



27. (a)
(b)
28. (a)
(b)
29. (a)
(b)
30. (a)

(b)

13-59/3/1

SECTION E

In what ways has the principle of ‘common but differentiated
responsibilities’” helped in addressing and overcoming the
differences between the ‘Global North’ and ‘Global South’ over

environmental issues ? Explain.

OR

Explain any three programmes initiated by the Government of

India to protect and conserve the environment.

Explain any three security challenges faced by the newly
independent countries of Asia and Africa after the Second World
War.

OR

Explain any three components of the Indian security strategy.

Justify the ‘policy of Non-Alignment’ adopted by India, by giving

any three arguments.

OR

“Foreign policy of independent India has pursued the dream of a
peaceful world.” Support the statement with three suitable

arguments.

Describe any three major challenges faced by India at the time of

independence in 1947.
OR

Describe any three major difficulties that came in the way of the
partition of British India in 1947.
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